


H3 2
EQSO
EE N

Y E!

¥ & W

BlEm A & & W

®OE WMEgLE A B B B
s BER

b BB FHAKF YR

1999 - &/




BEH#ERSE (CIP) ¥iE

EWRFRIGERAATE/MRE FH —SE.PEBZ%
FARKFH R, 1999. 8
ISBN 7-312-01120-9

L. e L. Wy B SEFRE-ANFHR-AE
NV.H31-44

RERR A B 3518 CIP ¥iE% 7 (1999) 58 20584 5

FEBEEARKEE RS RET
(XJAESERFTLER 965, 230026)

e [ B2 B AR KA ER R T ER R

EEFERELH

FrAC. 787X1092/32  EPgk. 8.5  F¥: 220 F
19994E 8 B 1 4% 1999 4F 8 H 58 1 ETRI
ER¥: 1—8000 it EH: 10.00 55

ISBN 7-312-01120-9/H 160



HEE A

(CEHFARBERBABROREEFUTRBRFOMN N ETFREAE
FUXBEFRAREMAL . RERBESHHIH L BRSEH TR, B
RTEEHLE I HENERBEBR T EAORR, BH TRELNT
KERE PR UKIOCHDGRBATL, HREHEE JER EA,

SHIF 12 EWRE, HFERGEIS ALGH GITHE MBS
ZWIL. REER EFAREELRES, BERAEE.

FHEGTEMFREAELELEM KEFRGE,



il g

Al

(EHHFNEERMABE VR - FENERHETREH
7oL T e SN e A R N DT D e WY R L
BN RENWGEETEE., A BRREWXEREEET
HeSH ERRZEHMINZE, LRI P45 i 205 R 8
WE RN RMFER DS, RS EEEENBLRE A
B S B 7 R B9 2 AE b % 5 T RLAY » B R B R R AR BLCOR )
F R EHEIL, IREETHA BEANES. BELMUEAS
¥ RERZAMBR, BERENE, RA -2 R %
Y, 2 R R TE BRI R R b B — S =,
5 B TT 0 R B e A B R AR RN T
“HE” BELL A PR a4 e R RO 1 A4 RO E A .

ABIA 12 BRI, 8B AE I d AL 4 H GRCE
AR TR KL R R RN A B RA4
B BIEMAER, LPMEREmas A R, 1~
8 M B th KRR, BAER S A i B B
WK EEIR G, HAR i B AL

ATABERE  EMELBRF, ROINEREFEPERT
— B AR RATE X RE X EFH R FHNRRE
AL R

REBINMARRS Hi T E QR KFER, EFR
RIMABZ LK) KiEHERITIEE,

w H
1999 4E 5 A 28 H



ﬁf]‘%.‘ S S S T TR TTR TR YT

Wi AR

WG 3 -ooevevererersrornrennesmiontiistenssnse s cnessne e
WHRFT 5 covoervornercreocenmnnicnireniiacernniiiiraesaeee
mﬁiﬂs Y T T R TR TTR TR YT
FGRIT 7 vvvvevvesrsecnsectstssttnicranionectencntarncntecacenes

mﬁt& Q ceserertentetecaancaceicnens cevesrossacsan .
BRI 10 oeeeeesemereeetmscnisiumnisiinnranesenneatassanne
WA 11 ceerererecerrorrencsnmnscuietiicnronnaiicanrerseonee
3 T RS TXTTIITIIILSLLIELD

(1)
- (D
¢2))
42)
(61)
(80)
99
(118)
(139

e+ (160D

181
(20D
221)
24D



KA

Part I Structure and Vocabulary

Section A
Directions:

Beneath each of the following sentence, there are four choices
marked [A], [B], [C] and [D]. Choose the one that best completes
the sentence. Mark your answer on ANSWER SHEET 1 by blacken-

ing the corresponding letter in the brackets with a pencil. (5 points)

Example:
I have been to the Great Wall three times ___ 1979.
[A] from [B] after
[C] for [D] since

The sentence should read, “I have been to the Great Wall three times

since 1979.”
Therefore, you should choose[D].
Sample Answer

(Al [B] [CIm

1. Throughout the world your reputation is as high as you used to long

for it
[A]is (B] was
[C] to be (D] being
2. We are wondering whether you would care _ the evening with
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us.

[A] spending [B] to spend
[C] to be spent [D] to be spending
. The penalties are severe for people smuggling banknotes out

of the country.

[AJ caught [B] catch
[C] catching [D] to catch
a good sleep and a substantial meal, the man felt thoroughly
refreshed.
[A] To have [B] Having
{C] Have had (D] Having had
. The specification of the new auditorium ____ next year are now
ready.
[A] to be built [B] to build
[C] build [D] to be building

. Government sources were refusing to shed any more light than

yesterday on the television interview with Mr. Jackson.

[A] appear (B] appearing
[C] appeared [D] had appeared
. The sheets for the hotel’s bed will want o
[A] washing [B] wash
[C] to wash [D] washed
. Mother is sharing the cakes among the children to make sure that
every child ___ some.
[A] should get [B] will get
[C] get (D] gets

. The director made a speech to the effect that we would all keep our

jobs even if the factory sold.

2



[A] were [B] was
[Clis [D] had been
10. The thought she had lost her thirst for money comforted

her strangely.

[A] which [B] that
[C] in which [D] in that
Section B
Directions :

Each of the following sentences has four underlined parts marked
[A], [C], [C]and [D]. Identify the part of the sentence that is in-
correct and mark your answer on ANSWER SHEET I by blackening
the corresponding letter in the brackets with a pencil. (§ points)
Example :

A number of foreign visitors were taken to the industrial exhibition,
[A] (B]
which they saw many new products.

cl (D]

Part [C] is wrong. The sentence should read, “A number of foreign
visitors were taken to the industrial exhibition, where they saw many
new products. ” So you should choose [C] .

Sample Answer

[A] [B] m[D]

11. The dress cost her § 250, two-third of her monthly income.
[A] (B] (€] (D]
12. Every man and woman eighteen years of age or older is eligible
(B] {c]
to vote for the candidate in his or her choice.
(D]
13. The city has so beautiful scenery that we wish the we could live
[A] (B] (CJ



14.

15.

16.

17.

18.

19.

20.

there forever.
(D]
The number of teachers and students have increased greatly in the
[a] (B] [C] (D]

last ten years.

We were pleased to see that the children had grown up and they
[A] (B]
soon would live on their own.
(€] (D]
He was taken a prisoner early in the war and spent the next two
(Al (B]
years in a prisoner-of-war camp in the south.
[C] [D]
My brother-in-law has just recently returned abroad, bringing back
[A] [B] (c] [D]

lots of presents for my family.

The dishes tasted so well that we all ate a lot.
[A] (B] (C] (D]
Despite it was in autumn, yesterday’s temperature was hot enough
[A] (B] [C]
to turn on the air conditioning.
(D]
Those who are mostly interested in this film are probably the old,
(A] [B] (€]

who can fully understand the feelings of the characters.
(D]

Section C

Directions :

Beneath each of the following sentences, there are four choices

marked [A7], [B],[CJand[D]. Choose the one that best completes the
sentence. Mark your answer on ANSWER SHEET 1 by blackening

the corresponding letter in the brackets with a pencil. (10 points)

Example:

The lost car of the Lees was found in the woods off the



highway.
[A] vanished [B] scattered
[C] abandoned [D] rejected
The sentence should read, “The lost car of the Lees was found aban-
doned in the woods off the highway. ” Therefore, you should choose
(cJ.
Sample Answer
[A] [B] m[D]

21. The teacher has pointed out these grammatical mistakes to him

once and again, but he still keeps them.
[A] taking [B] creating
[C] doing [D] making

22. Upon inspection, the rooms in the new building were found to be

smaller than

[A] originally designed [B] were originally designed
[C] we had designed [D] had designed
23. If you say, “I would rather not do business with the man, ” the
implication is that the man ___is dishonest.
[A]in question [B] beyond question
[C] beside the question [D] out of question

24. The effect of am unhappy childhood on a man’s character is not al-

ways
[A] persistent [B] permanent
[C] constant [D] consistent

25. You can freely use everything in this room during my absence. But

do remember to put them back in place after you them.
[A] have done with [B] do away with
[C] do well [D] do with



26.

27.

28.

29.

30.

31

32.

33.

Most people will ___ weight if they eat too much chocolate.

However, that doesn’t seem to be the case with me.

(Al putin [B] put on

[C] take in [D] take on

The slightest park can ____ the explosives stored there.

[A] set forth [B] set about

[C1] set out [D] set off

You should try to see the matter in terms of its historical

[A] consensus [B] content

[C] context [D] contempt

He is the sort of person whose words you never can quite

[A] make for [B] make of

[C] make out [D] make on

Very keen on movies, Miss Susan ______ the cinema in town.

[A] inhabits [B] haunts

[C] inherits [D] perplex

In our culture, honesty has always been considered an important
of a person’s character.

[A] regime [B] odor

[C] ingredient [D] fragment

Yesterday my bicycle got a flat tire, so IThadto ______it to a near-

by shop to have the tire mended.

[A] wheel [B] pull

[C] convey [D] survey

Last week a campaign was _______throughout the city to dissuade

people from smoking.

[A] held [B] carried

[C] taken [D] launched



4.

35.

37.

38.

39.

40.

You are interested in and expert at many different things, so you

are said to be

[A] virtual [B] versatile
{C] vertical [D] veteran
I don’t think people realize how serious a problem they are up
[A] against [B] up
[CIto {D] with
. Only after you have acquired considerable ____ in speaking, do
you begin to leave to read and write.
[A] faculty [B] function
[C] facility [D] facilities
The news our boss told me the other day has yet to be
[A7 conformed [B] commenced
[C] commended [D] confirmed
I'll probably be back very late tonight, so you needn’t ____ for
me.
[A] sit in [B] sit down
[C] sit up [D] sit by
She went to great lengths to keep her son from getting ____in

such a dreadful thing.

[A] mixed up [B] drown

[C] overthrown [D] racked

The whole village lay ____ in darkness but for the dim light of
the moon.

[A] enclosed [B] surrounded

[C] swallowed [D] enveloped



Part 1 Cloze Test

Directions :

For each numbered blank in the following passage, there are four
choices marked [A], [B], [C] and [D]. Choose the best cne and
mark your answer on ANSWER SHEET 1 by blackening the corre-

sponding letter in the brackets with a pencil. (10 points)

The creators of the most famous schemes for a utopian state have
usually assumed that man, 41 he is, does not have the capacity for 42a
perfect social organization or experiencing 43. His unfortunate 44 for
freedom constantly 45 up the road 46 happiness. It is up to the few
wise men, so they imply, to get 47 of the state for the purpose of im-
proving the 48 of man by improving man himself. This 49 generally

takes the form of educational conditioning or 50 even more powerful

measures.
41. [A] like [B] as
[C] because D] for
42.  [A] renovating [(B] inverting
[C] combining [D] evolving
43.  [A] doubt [B] hazard
[C] happiness [D] slavery
44. [A] taste [B] study
[C] puzzle (D] wish
45. [A] measure [B] live
[C] come [D] block
4. [Alon [B] along
[C]to (D] wish



471.  [A] control [B] understanding

[C] removal [D] confusion
48. [A]ideal [B] future

[C] life [D] lot
49. [A] assumption [B] improvement

[C] happiness [D] organization
50. [A] with [B] by

[C] of (D] to

Part I Reading Comprehension

Directions :

Each of the passages below is followed by some questions. For
each question there are four answers marked [A] , [B] , [C] and [D]
. Read the passages carefully and choose the best answer to each of the
questions. Then mark your answer on ANSWER SHEET 1 by black-
ening the corresponding letter in the brackets with a pencil. (40

points)

Passage 1

The growth of population during the past few centuries is no proof
that population will continue to grow straight upward toward infinity
and doom. On the contrary, demographic history offers evidence that
population growth has not been at all constant. According to paleo-e-
cologist Edward Deevey, the past million years show three momentous
changes.

The first, a rapid increase in population around one million B. C. ,

followed the innovations of tool-making and tool-using. But when the
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new power from the use of tools had been exploited, the rate of world
population growth fell and became almost stable.

The next rapid jump in population started perhaps 10, 000 years
ago, when man began to keep herds, plow and plant the earth. "_v()’_\nce
again when initial productivity gains had been absorbed, the rate of
population growth abated.

These two episodes suggest that the third great change, the pre-
sent rapid growth, which began in the West between 250 and 350 years
ago, may also slow down when, or if technology begins to yield fewer
innovations. Of course, the current knowledge revolution may contin-
ue without foreseeable end. Either way-—contrary to popular belief in
constant geometric growth—population can be expected in the long run
to adjust to productivity. And when oné takes this view, population
growth is seen to represent economic progress and human triumph
rather than social failure.

51. Which of the following statements is considered NOT true, accord-
ing to the passage?

[A] Population growth can not be regarded as a social failure.

[B] Population growth has shown fluctuations in demographic his-

tory.

{C] Human population expands at an exponential rate.

[D] Increase in population is related to productivity.

52. What can be concluded when the current tide of knowledge revolu-
tion ebbs?

[A] Productivity will rise.

[B] Population growth will slow down.

[C] Productivity will receive no impact.

[D] Population growth will become accelerated.

10



53. What is the concept most people have on population growth?
[A; The population is always in constant geometric growth.
[B] Rapid growth is followed by stable growth.
[C] Decelerated growth is followed by a decline.
[D] No growth at all.
54. Which statement is found to have close relationship with rapid in-
crease in population?
[A] War between countries.
[B] Migration from a continent to another continent.
[C] A new religion beginning to be accepted by people.

[QJ Ways discovered to increase productivity.
Passage 2

Culture shock might be called an occupational disease of people
who have been suddenly transplanted abroad. Like most ailments, it
has its own symptoms and cure.

Culture shock is precipitated by the anxiety that results from los-
ing all our familiar signs and symbols of social intercourse. Those signs
or cues include the thousand and one ways in which we orient ourselves
to the situation of daily life: when to shake hands and what to say
when we meet people, when and how to give tiff » how to make pur-
chases, when to accept and when to refuse inv-itations, when to take
statements seriously and when not. These cues, which may be words,
gestures, facial expressions, or norms, are acquired by all of us in the
course of growing up and are as much a part of our culture as the lan-
guage we speak or the beliefs we accept. All of us depend for our peace
of mind and our efficiency on hundreds of these cues, most of which we

do not carry on the level of conscious awareness.
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